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Il Semester B.Com. Examination, May/June 2014
(Repeaters) (2011-2012 Only)
COMMERCE
Business Statistics

Time : 3 Hours Max. Marks : 100
Instruction : Answer should be written fully in English or in Kannada.

SECTION —-A

1. Answer any eight sub-questions from the following. Each question carries
2 marks. (2x8=16)

a) Define statistics.

b) State the various measures of central tendency.
c¢) Find mean if Median = 27 and Mode = 31.

d) State limitations of Arithemetic Mean.

e) Define dispersion.

f) Write the merits and demerits of range.

g) Find ‘'r If bxy = 0.9 and byx = 0.6.

h) If average wages paid = 65 and number of worker = 500 find total wages paid.
i) Whatis current year ?

i) What are the types of correlation ?

k) Write two regression equations.

l) What do you mean by TRT ?

P.T.O.
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SECTION-B
Answer any 3 questions. Each carries 8 marks. (8x3=24)

2. From the following data compute Mean and Median.

Incomein < No. of workers
More than 0 100
Morethan 100 95
Morethan 200 82
Morethan 300 60
Morethan 400 45
Morethan 500 36
Morethan 600 20
Morethan 700 10

3. Calculate quartile deviation and its coefficient from the following data :
Class inte_rval : 10-20 20-30 30-40 40-50 50-60 60-70
Frequency | 3 5 15 10 3 4
4. Calculate rank correlation coefficient from the following data :
X : 58 60 60 61 62 63 64 65 66
Y : 100 58 8 92 90 90O 8 9N HA
5. Calculate S.D. from the following data.
Mid point : 10 20 30 40 50 60 70 80 9

Frequency : 6 12 10 8 14 10 15 15 10
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6. Construct the consumer price index number using family budget method.

ltems - A B C D E F
Units : 120 80 40 10 5 1
Price in 2005 : 30 20 70 40 30 5,000
Pricein2010 : 50 30 100 60 30 8000
SECTION-C
Answer any 4 questions. Each carries 15 marks. (15%4=60)

7. Calculate Mean, Median and Mode from the following data :
Marks above : 10 20 30 40 50 60 70 8 9D
No.ofStudents : 100 9% 8 75 50 38 26 18 4

8. From the data given below, state which of the two series is more variable and-

find C.V.
Variable : 10-20 20-30 30-40 40-50 50-60 60-70
Frequency

X 10 8 12 20 5 5

Y 5 B 20 12 8 10

9. Find out if there is any relation between X & Y
X 45 48 52 56 60 64 68 72 76 80
Y : 120 116 118 100 96 9% 9% 84 72 62
10. Obtain two regression equation from following data :
X : 7% 8 9 70 60 8 8 80
(- 120 134 150 115 110 140 142 100

And cal. most probable value of X when'Y = 130 and value of Y when X = 85.
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11. Construct Fisher’s ideal inde)_< from the following and show how it satisfies TRT
and FRT.

Commodity Base year Current year
Price Quty. Price Quty.
A 20 10 24 12
B 8 20 15 24
C 4 12 14 15
D 12 6 20 8
E 15 15 30 18
THB R
QTN - 2
33 3PNT 03P HCR 8 LUTTINT GUZOR. B8 LUTHIT 2 osnsd. (2x8=16)

1. a) ﬁosx%sazgd asaa,a%daﬂgi e
b) abq;sdo BP0 BRTIC admfag SPR.
C) G0 = 27 Torie WBKB = 31 ST FTRO SR ?
d) 78 ZooR00E B> QSR ?
e) NWOUZoD mzss:jja:b@t DD.
f) Seozt womodeen Hone ISNTSY SV
g) bxy = 0.9 &8 byx = 0.6 &3 ‘' = ? 30wOEGECWE.
h) R0eR0 8RO 65 Tore 2.3, FOF BT = 500 HTT 2,839, BRO0RY, TORERCD.
i) @39 SR Qotsded ?
j) RBARIOGE QDT TRIRIR) E9R.
K) 0> toordeiod AeEdmaneR idcad
) TRT 068 omdemd ?
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CIRFYTREER 3 TIrier «ugdr. F3 BIR 8 wosnsh, (8x3=24)
2. 833INT [9EBOW0T FTIRO TR T BNIR) TORD &ROWO.
Ciapleby FTOLRFI
0 r‘.::iod ézigd 100
100 go8 T2y,
200 55,03’ &'5’?,5.23
300 §08 ),
400 %oé é&-‘:‘i

500 go2 =),

N 8 & 8 B &

600 g0 e
23
700 g0 ﬁzigd 10
3. B3 IINT T&SCWOT WROFF T WLBOI) =2 533 mmmw;’% FOTREEROND.

I[ne 10-20 20-30 30-40 40-50 50-60 60-70
eSS 3 5 15 10 3 4
4. BIINT B&SOWOT Feed I r-‘u’owoqjso’dg‘ BOTIGRCWD.
X : 58 60 60 61 62 63 64 65
Y : 100 58 8 2 9NV VD 8 D
5. 83 89N TH0INYoT DS B (SD) T0mr2BE0.
FReW 10 20 30 40 50 60 70 8 9D

w33 : 6 12 10 8 14 10 1B 15 10
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6. 2BeR sSzgd ;Tifawaéoédaﬁgi 39N cﬁ@go&fﬁr} BOEAIOL) LIOTIDW DGRV BOTIERCIN0.

g . & B G-0B B F
odoRts . 120 e 40 10. 5 1
$$-2005 : 30 20 70 40 30 5000
%$-2010 : 50 30 100 60 30 8000
SNIIN -2
CARFTTRAR 4 BIer wgon. B8 TIK 15 soezned (15x4=60)

7. 3INS BtSo00T FTIRO, WG R0 BRI BorEROW0,
wosnencs=ey @ 10 20 30 40 50 60 70 8 9N

a@sarﬁ% : 100 9% 8 75 50 38 26 18 4

8. B3 3JB0E S08SCW0T O3 WNE ﬁa&% QB3 d_)dma TROOT ForRIWEBCIO B2
09730 C.V. Bor0&&B0200.

s[ne 10-20 20-30 30-40 40-50 50-60 60-70
SO

X 10 8 12 20 5 5

Y 5 5 20 12 8 10

9. BN TH0TE F® FOLOT, BBMIEFRRY, FOTROZECAN.
X: 4 48 52 5 60 64 68 72 76 8

¥ 120 116 118 100 9% 9B B 84 72 62
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10. 33 39N3 RR%sc0 (a) FTE> ARRFeHe0 FROETT AT FoRLRCD (b) Y’ e3¢

130 ‘a@@ﬁ 'S IS Tone X' 233 =85 amn ‘Y’ 36 e0mad.

X : 7% 8 9% 70 60 8 8 50

Y 120 134 150 115 110 140 142 100

11. BINI WROOT $TOS STIF m-za“%oédsig{ﬁoméo@ow& e e TRT @023 FRT

ﬁ@eﬁ?ﬁ%& %fim%’:ijowd&; 3ReoR.

ST DR w0 I=E
Ealnptot W3 oz WS JOR
A 20 10 24 12
B 8 20 15 24
C - 12 14 15
D 12 6 20 8
E 15 15 30 15




